EARAROBREBRT —5 XN—ZXBISH—F

20224F10827H () 14EIPT5I6H

7R B N o BRI
[KEE] 1&:450,000H  2&:126,000H  3#%&:9,000M  4%&:63,000H ~ 53&:31,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
11111 | 907129 — 3 %*géﬂﬂ 1:52.1 3443 |39.4| - 1 | 149 @Jﬁlﬂl;ﬁ@ (timE)
. (=) _ Siih={
QiR I—IWTT B:o=aF vy 8 | Syt
s o4 | BEEY 1:52.4 2-2-2-1 | 40.1| — 5 504 | A EIERD (Jbi@i&)
27 (A BEAATT %.0 ) () | MR
R:7OYNATT B:hLATA ATT i —=
3 ! : -3-3- - i EE
N/ F v RI— H o3| e 1( gszt? 4-3-32 | 40.0 2 ?720) /Jﬁ%ﬁ i)
RFEV/HYD B:IWATSY [icngye]
EOAY BB : -5-6- - E= (i)
F A RS A IN— 3 gﬁf‘grxi 1.?43).3 5-5-6-5 | 40.4 4 g)z EEE\ (i)
RN—EVIv— B:XR7 OS54~ J—YUIr—L
_ HIEE : -4 - time
FRSZT—2 Ho4 Saﬁ)% 1.(5;).2 6-6-4-6 | 41.3 6 (5&6) ﬁ%{gﬁ% (timE)
R:T—ILRI—-X BRI vF—Ta— RIS 1ELE
o S SD o~ GpuLgr . _1-1- _ | 1 SHE
eI ey # 3 gf_‘gsé 1.as).o 1-1-1-3 | 42.7 3 (5_024; é%]?g (timE)
R:AX—KT 7)Y B:VILN—DA4 VR J0-U—J7—LA
- SR . T _ F— e
F—ZN— 409 iﬂél% 1(.15/52.)1 7-6-7-7 | 41.9 8 (4_63 Eﬁg% duiE)
RAVNZ— B:T7rF—bvy b BEEFRIS
S . 3 | BEHR 1:58.0 8-8-8-8 |42.6| — 7 514 | MEBFE (dLiEE)
d E /17\.7./ 29A 4530 (519) 18 |AFEB
R:TJUF—Y B:PIvVavIL BER= AR
@ 11— —BBIEfI
13—7+— 6,7,1,3,2,8,4,5
20—F— 6,7,3,1,2,(4,8),5
30—7— 6,7,3,(1,8),2,4,5
40—+ — 7,3,(1,6),2,8,4,5
o ILRE
B B 1 1M | | 94 R 1-7 460M 5= 1-7 1,380M 3EE 1-3-7 1,180M
7B B 1 1009 1-3 1504 ==} 1-7 1,720H 3EH 1-7-3 4,740
7 280M 3-7 1,000
3 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




